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130
‘What is the number 640678.16 written in

words?

A. Six hundred and forty thousand six hundred
and seventy eight point one six.

B. Six hundred and forty thousand six hundred
and seventy eight decimal one six.

C. Six hundred and forty thousand six hundred
and seventy eight and sixteen hundredths.

D. Six million four hundred and six thousand
six hundred and seventy eight and sixteen
thousandths.

Which of the following statement is incorrect?

A.

A
(=T [ S

B.

Vv

<0.66

D =2=03

Wl— W|IN AW MW

What is the smallest six digit number can
be obtained when the digits in the number
760824 are rearranged?

A. 204678

B. 876420

'C. 024678 5

D. 240678

What is the value of z+lof 2—2)+l?
e ) 6
A.

B.

e
sl B el

o
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During an election, candidate R got 1206
votes more than candidate S who got 808
votes more than candidate T. Candidate S
and T got a total of 5604 votes. How many
votes did candidate R get?

A. 4412

B. 2398

C. 3206

D. 4796

What is the value of 4.3334 + 195.6665

1_'ounded off to the nearest thousandths?

A. 199.9999
B. 199.000
C. 200

D, 200.000

Milk was stored in containers of 36 litres, 30
litres and 24 litres. The milk in each container
was repacked into smaller containers of the
same size. What was the largest capacity of
the container used to repack the milk?

A. 360L

B:12L

C.6L

D. 240L

What is the square root of the number obtained
when 144 is multiplied by 9?

A.108

B.36

C.4

D.15

What is the next number in the pattern
2o e
31556 6

A.2

w

a
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10.

11.

12.

13.

Amina sold % of her goats to a butcher and

gave — of the remaining goats to her children.

If she was left with 90 goats, how many goats
had she at the begmmng‘7

A. 162
B. 203
C. 180
D. 40

Whatisthevalueof 4-(24+12) .,
>

A.04

B.3.4

€12

B 22

The perimeter of a square of sxdes 44cm is equal_

to the circumference ofa circle. fWhat isthe;
radius of the circle?
A.l4cm

B. 56cm 3 i
C.7cm

D.28cm o

The area of the trapezium ABCDE is

13
AB = 14cm and BD = 8cm. h

14sm A

e

8cm

What is the length of CE?
A.34cm
B. 17cm
C. 20cm
D. 48¢cm

MERIT 002

14.

15.

= A

A flower garden is inform of a rectangle and
two semicircles. The rectangle is 20m long
and 14m wide. The widths of the rectangle
are also the diameter of the two semicircles.
What is the area of the garden?

A. 154m’

B. 434m’

C. 280m’

D. 896m *

A cylindrical container has an internal radius
6f 7cm and a height of 12cm. What is its
capacity in litres?

A.1.848

B. 1848

.528

Acyclistlefthomeat9.25am and took Thr 40
minutesto travel to town. He stayed there for

1 hour before he cycled back. The time he took
to travel back was 20 minutes more than he had
takento travel to town. At whattime did he
reachhome?

A.1.25pm

B.3.05pm

C.11.05pm

D.2.05pm
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18.

19.

26.

The diagram below represent a piece of land

—— 25m

Zh

What is the perimeter of the piece of land?
A.94m g =

B. 122m
C. 108m
D.97m

7=

3

What is the volume of the solic | bele

2m

A 12

B. 120000
C. 1200000
D. 12000

A motorist covered part of his journey at a
speed of 60knv/h for 2 5 hours. He then
increased his speed to 80km/h and covered
the remaining part for 1 % hours. What
distance did he cover?

A. 270km

B. 150km

C. 120km

D. 560km

MERIT 002

Z1.

A cylaiiiical modl Tiies o dimmeter of Jdom and.
a height of 10cm. What is its total surface
area?

A. 5%4cm’

B. 748cm’

C. 440cm”

D. 308cm *

In a farm there are 36chickens. In a week 16
of them lay k eggs and the rest lay k + 2 eggs.

‘How many eggs are laid together in a week?

A (i7k +2) eggs

B. (20k + 40) eggs
C. (36k +20) eggs
D. (36k + 40} eges

The figure below is a rectangle

2(p+4)em

T 0

(pt6)cm

1 [
(4p-12)cm

How longer is the length than the width in
cm?

A.28cm

B. 16cm

C. 12cm

D. 44cm

Giventhatf=4,g=6andh=g+ 1, whatisthe
value of ’:li (2f+3g+4h)?

A.54

B.27

C.26

D.13

What is the value of x in the equation
4x -8=2x+20?
A 14
B.28
C.2
D.6
MATHEMATICS STD. 8
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26.

What is 3(m + 13 )it % (10m - 15) in simplest 29. The cash price of a motorbike is sh. 100000.
form? The hire purchase price of the same motorbike
A.5m+2 . is 20% more than the cash price. Muturi bought
B.5m-2 it on hire purchase term and paid a deposit
C.m+4 and the rest in 15 months each 6000. How
D.5m+4 5 much deposit had he paid?
A. sh. 120000
27.  Chacha paid sh. 1800 for a wrist watch after B o0
3 5 C. sh. 220000
being.allowed a discount of sh. 200. What
: D. sh. 30000
was lh‘e discount as percentage? i
T { AR
B.90% ; 30.. By sclling a dress at sh. 2400 Asha made a
C. 10% 2 profit of 20%. How much was the buying
D. 122 % price?
2 A. sh. 3000
s o B. sh. 2600
28. A wader deposited sh. 10000 in a bank that C. sh. 2880
paid a simple intercst at a rate of 2% permonth. D sh. 1920
How much money was in her account after
1 year? — 31 mAsalosh oo \
- agent sold 20 radius cach sh. 1000
A. sh.12400 and received a commission of sh. 1200.
B. sh 10200 What was his percentage commission?
C. sh. 2400 e g- g;’ﬁ/ﬂ ,
. 0
D. sh. 200 c 12%
- D.5%
32. The table below shows commission for sending money orders.
Value of order (sh) Ordinary commission (sh) | Express money order
commission(sh)
upto 500 ~ 50.00 30.00
501 - 1000 120.00 150.00
1001 - 3000 180.00 210.00
3001 - 5000 215.00 240.00
5001 - 10000 300.00 320.00
10001 - 20000 450.00 510.00
20001 - 30000 620.00 660.00
Moraa sent one ordinary money order worth sh. 12000 and one express money order worth sh. 21500.
How much did she pay altogether at the post office?
A.sh. 1110
B. sh. 34610
C. sh. 34460
D. sh. 33500
MERIT 602 5 MATHEMATICS STD. 8
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33. In the figure below line ABC is parallel to 36. Thefollowing triangle has been drawn

line DEF, lines BD and BE are transversals. accurately
Angle BEF = 136°.

What s the size of angle BAD? What is the supplement of angle ACB?

A. 88°

B. 92°

C.44°

D. 68’

. & i ; 37.°" Which of the following statement s not true

34. Construct atriangle WXY such that WX '=:7_.SICm,- 2] abouf aclosed cube?

angle WXY = 100° and angle XWY = 30" Draw ___A.Faces +vertices=16

a circle touching the three vertices.‘What is - > _,B"Edgész 12

the length of the radius? S| CVertices+edges=20

X T b o D.Edges+faces=18

B.3.2em

e 38.  Thefigure belowrepresent a rectangular piece

-~ ofland drawn using the scale 1:2000
D.24cm
[ L]

35. Whichofthe following statement is true about 2¢cm

quadrilaterals? - Is

A.Arectangle is a square. 3cm
B.Aparallelogramis arectangle.

C.Asquareisaspecial trapezium. Whatisthe area of the land in ares?

D.Arhombusisa parallelogram. A. 2400
B.24000000
€24
D.0.24
MERIT 002 6 : MATHEMATICS STD. 8
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39,

40.

41.

42.

43.

What s the place value of digit 3 in24.12 +4?
A.Tens.

B. Hundredths,

C.0.03

D. Thousandths.

What s the value of | /380 +14% 2

A.394
B.26
Ce576
D.24

The temperature of water was 26°C:Thc
water was heated for % hour. If it was gaining
heatat a rate of 4°C per minute, what was the
new temperature? =

A I7°C : et
B.86°C” L

£.34°C e

D.42°C

In a school the ratio of boys to girls is 3:2
respectively. If there are120 more boys than
girls, how many girls are there?

A.360

1B.600

C.240

D. 80

Apiece of work can be done by 16 people in 8
days. How many more days can the work take
ifitis done by 4 people?

A32

B.24

€8

D.2

MERIT 002

44.

The pie chart below shows how a farmer uses
his piece of land

¥ 5= Ifthe piece of land under bananas is 2ha, how

45.

46.

- many more hectares are under coffee than

maize?.
A.6ha
B.10.5ha;
C.4.5ha
D.1.5ha

~The table below shows the speed and time

taken to cover a certain distance. Complete

the table by calculating the values of x and y:

Speed(km/h) | 120 X 180

Time (h) 3 4 y

A.x=160,y=6
B.x=100,y=6
C.x=90,y=2

D.x=140,y=2

The table below shows how 60 pupils scored

in a test

Score (%)[100 | 96 |92 |86(82|78|76 |74|70

No. of

pupils 4471 3 111(13]10} 912 | 1
What was the modal score?

A. 82

B.13

C.86

D. 11
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47.

A tank had 1200 litres of water. If 40% of the

water was uscd up in one week, how much

water was left in the tank?

A. 7201 <
B. 240L
C. 4801, ’
D. 16801, ;
48. The table below shows price of food fora
certain hoted i shillings 3
B {1 . Mchele ; Cha;;a"]ig
Beef 120 180 = 200
Samaki | 150 200 240
Kuku |200 240 7260
Six people took lunch in the hotel as follows:
2 took beef and chapati, 3 took samaki and ugali
ar | the rest kuku and mchele. How much did
they pay altogether?
A.sh. 1330 S
B.sh.850 $
_C.sh.1090 °
D =h. 1200 v
49. T stack belowismade of cubes.
E 4
%

How rnany cubes are used to make the stack?
A.75 :
B.45
€27
D.48

MERIT 002

50. The graph below shows a motorist’s journey
fromhometo atown.
TOWN 500

Distance in kilometres

_i.

6.30am 7.30am 8.30am 9.30am 10.30am 11.30am

TIME

What was the average speed in km/h for the

whole journey?
A.100
B.80
C.90
D.112 5
~ MATI: SIATHOSSTD. S
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